01 10 25

G )
4,600 | 4,600| 0| 0| 0 0
H28 H30 R2
06 100%
ot 504 100%
R2 16
O H2B 1006 R
ot 60t 100%
R2 10
Ob H2B 1006 R
ot 0% 100%
O H3L 1006 R
ot 0% 100%
R2

0000132781




H28 |H29 [H30 [H31 [Ro2

o7-001 e [==]s] s
07002 e [=]=]> 700
A07-003 " == 130
07 004 ar 0
07-005 ar m
| 1] ] do0] |
| L] do0] |

0000132781




H28 H29 H30
@) 715 520 580

) 77 0 0

(c=a+b) 638 520 580
() 101 104 56

(©)] 635 568 452

() 104 56 184

0 1 23

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 0.16 3.61

10

0000132781



